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o 4E1313 |
o™ B. Tech. IV Sem. (Main) Exam., - 2022
v " Civil Engineering
g 4CE2 - 01 Advance Engineering Mathematics - II
AG, CE,MI
Time: 3 Hours e | Maximum Marks: 70

Instrucnons to Candidates: -
Attempt all ten questions from Part A. Five questions out of seven questwns
Jfrom Part B and three questions out of five from Part C.

- Schematic diagrams must be shown wherever necessary. Any data you feel
missing may -suitably be assumed and stated clearly. Units of quantities
used /calculated must be stated clearly.

Use of following supporting material is permitted during examination.
(Mentioned in form No. 205)

1. NIL = i - 2. NIL
PART - A
{Answer should be given up to 25 words only) [10x2=20]

All questions are compulsory

Q.1 A card is drawn from a well — shuffled pack of playing cards. What is the probability th
it is either a spade or an ace? o
Q.2 -When A and B are two mutually exclusive events such that P (A)=12 and P (B) = 1/.
~ findP(AUB)and P (AN B). | y
Q.3 If X and Yl are two raﬁdom variables suchthat E (X) =3 and E (Y) = 5, then what will b
the value of E (2X + 4Y)?
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Q.4
Q.5
Q.6

Q7
Q8

Q9

Write the Chebyshev’s Ineqliality.

If mean of Poisson distribution is 3, then what is the value of variance?

What type of correlation exists when the vaiues_ of two variables move in the sam
direction?

If r = 0.8 and byy = 0.32, then wh_atl will be the value of byx?

If y = 2x'+ 10 is the best fit for 10 pairs of values (x, y), by least square mef:hod an
2y = 200; then find the value of 2x. |

Which distribution is useful for large sample while testing for population means?

Q.10 What is the meaning of the tesfing of the hypothesis?

Q.1

Q2

Q3

Q4

PART-B

(Analytical/Problem solving_guestionsj l_ [5x4=20]

Atteiﬁpt any five questions (Word limit \100.)

In a bolt factory machines A, B and C manufactures respectively-25 %, 35% and 40% of tk
total. Of their output 5, 4, 2 percentages are defective bolts. A bolt is drawn at random fron
the product and is found to be defective. What is the chance that it was manufactured t
machine C?

A continuous randdm variable has the probabiﬁty density function f (x) = kx%e™, x > |
Find its second moment ébout mean.

A prefect cubic.;:il die is thrown a large number of times in sets of 8. The occurrence'of
apd 6 is called a success. In which proportion of the sets you expect 3 successes.
IfP(X= 2)=9P(X =4} + 9OP(X = 6) in the Poisson distribution then find its mean, varian

and standard deviation.
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Q.5 Fit a second degree paraBbla to the following -

X

011123

‘

y

1

1811325

63

Q.6 Two random variables have the following regression' lines: 3x + 2y —26 = 0 and

6x +y — 31 = 0. Find the mean values and coefficient of coﬁelation between x and y.

Q.7 A coin is tossed 400 times.and it turns up head 216 times. Discuss whether the coin may be

unbiased one.

PART -C

(Descriptive/Analytical/Problem Solving/Design Ques’tibns! [3x16=30]

Attempt any three questions

Q.1 Let X and Y be continuous random variables having joint density function -

fix,y) = { 0

Determine -

~(a) constant c,

(b)
(¢)
(d)
(e)

cx*+y%), 0<x<1,0<y<1
otherwise

P(X<%,Y>%),,PG<X<Z),P(Y<§-)

“marginal density fﬁnctions of Xand Y

whether X and Y are independent

conditional distribution of X and Y

Q.2 Determine the binomial distribution’s moment generating function and, as a consequence,

its ' mean and variance.

[4E1313)
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Q.3 If the skulls are classified as A, B and C according as the length — breadth index is ©
75, between 75 and 80, olr over 80. Using no1_'mal distribution find approximately the 1
and standard deviation of a series in which A are 58%, B are 38% and C are 4%, t
given ﬂ1at - |
f(t) = 2= Jy exp (=x*/2)dx
then (0.20) = 0.08 and £(1.75) = 0.46.

Q.4 Calculate rank correlation coefficient for the following data - -

x181178173 73696862158

y{10]12|18|18|18]22|20|24

Q.5 In a year there are 956 births in a town A, of which 52.5% _Were males, which in to
and B combined, this proportion in a town of 1,406 births was 0.496. Is there any signi

difference in the proportion of male births in the two towns?
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3 4E1314
3] B. Tech. IV - Sem. (Main) Exam., - 2022
E | Civil Engineering
< 4CE3 .04 Basm Electronics for Civil Engineering
Applications
Time: 3 Hours. T Maximum Marks: 70

Instructions to Candidates:
Attempt all ten questions from Part A. Five questions out of seven questions

from Part Band three quesnons out of five from Part C.

Schematzc dzagrams must be shown wherever necessary. Any data you feel
- missing may suitably be assumed and stated clearly. Units of quantities
used /calculated must be stated clearly.

Use of followmg supporting material is permitted during examination.
(Mentzoned in form No. 205)

1. NIL 2. NIL
PART - A
(Answer should be given up to 25 words only) [10x2=20]

All guestions are compulsory

Q.1 Whatis thc:si_gnificance of the number system? ,

Q.2 The binary number 10101 is equivalent to decimal number.............
Q.3 State DeMorgan’s theorem.

Q.4 What are the selecﬂon criteria for the transducer?

Q.5 Decimal 43 in hexadecimal, and BCD number system is respectively ......... and ........... .
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Q.6
Q.7
Q.8
Q.9

What are the selection criteria for the transducer?
What are the atmospheric errors in the sensors?
How many types of resolutions are in remote sensing? L

What causes radiometric distortion?

Q.10 How do you calculate FOV from IFOV?

Q.1

Q.2
Q.3

Q4
Q.5

Q.6
Q7

PART -B
(Analytical/Problem solving questions) [5x4=20

Attempt any five questions (Word limit 100)
How a PN junction diocie is workiﬁg? Draw and explain the\V—.lr c;haractefiééi;:s of PN dio:
with neat diagrams. -

Explain in detail about classifications of the transducer.

Differentiate the following in brief - |

(a) Gross errors and systematic errors

(b) Absolute and relative errors

(c) Accuracy and precision

Dfaw and explain the capacitive transducer in detail. Also, mention its applications.
Discuss the following in brief -

(a) Control surveys using GNSS

(b) Total station and traversing methods

Draw and explain the resistive transducer in detail.

Draw and explain the working of piezoelectric sensors/transducers.
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Q.1
Q.2

Q23

Q.4

Q.5

PART - C
(Descriptive/Analytical/Problem Solving/Design Questions) [3x10=307]

Attempt any three questions

What is data acquisition? Explain in detail about ADC & DAC.

Explain the construction and working of BJT. Discuss the CE configuration with the help
of input and output characteristics.

Write a short note on applications of optical and microwave remote sensing techniques for
Civil Engineering.

Discuss the following steps of Digital Image Processing in detail -

(a) Pre-processing

(b) Enhancement

(¢) Classification

(d) Accuracy assessment

Draw and explain the following using a truth table and logic diagrams —

(a) J-KFlip - Flop

(b) R-S Flip - Flop
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wn ~ 4E1315
(49! B. Tech. IV - Sem. (Main) Exam., - 2022
E Civil Engineering
= 4CE4-05 Strength of Materlals
Time: 3 Hours o Maximum Marks: 70

Instructions to Candidates:
Attempt all ten questions from Part A. Five questwns out of seven questwns '
Jrom Part B and three questions out of five from Part C.
‘Schematic diagrams must be shown wherever necessary. Any data you feel
missing may suitably be assumed and stated clearly. Units of quantities
used /calculated must be stated clearly

Use of following supporting material is permztted during examination.
(Mentioned in form No. 203)

1. NIL | 2. NIL
PART - A
(Answer should be given up to 25 words only) - [10x2=20]
All questions are cbmpulsorx ,

Q.1 Draw a neat diagram of fixed support. What type of support reactions are available at

fixed support?
Q.2 Write short notes on ‘Slenderness Ratio’.
Q.3 State Hooke’s law. Write down different types of stresses and strains.

Q.4 Why a hollow shaft is preferred over a solid shaft?

[4E1315] Page 1 of 4 ‘ - [1920)



Q.5 Define the following terms: Therma} Stresses; Thermal Strains and Poisson’s ratio.
Q.6 Define ‘point of contraflexure’.

Q.7 Define principal planes and principal strcssé's' and explain their uses.

Q.8 Whatdo ybl_l understand by principal of super position?

Q.9 Define angle of twist, twisting moment and torsional rigidity.

Q.10 Which is the effective method for ﬁnding out the deflection & why‘?

PART -B
(Analytical/Problem solving questions) [5x4=20]

Attempt any five questions (Word Jimit 100)
Q1 A reétaﬁgular beam 200 m wide and 300 mm deep carries an UDL of 10 kN/m over a

simply supported span of 6 m. Determine:
(i) The maximum stress in the beam due to bending
(i) The radius of curvature for the section where bending is maximurmn, if E= 200 GPa

Q2 Write the assumption of theory of simple bending and prove this relation.

M
I

= |t

c
y
Q.3 Derive the relation between load, shear force and bending moment.

Q.4 Find the maximum torque that can be safely applied to a shaft of 200 mm dia, if permissible
angle of twist is 1%in a length of 5 m and the permissible shear stress is 45 N/mm?. Tak«
modulus of rigidity (G) = 0.8 X 105 N/mm?. |

Q.5 Derive an expression of the Euler’s crippling load for a long column, when -

(i) It has both ends hinged and |
(i) Both the hands are fixed

[4E1315] Page 2 of 4 | | [1920]



Q.6 Draw the typical shape of shear stress distribution for the following sections shown in

Q7.

Q.1

Q2

Q.3

Fig. I:

Fig 1
An aluminum rod 22 mm diameter passes through a steel tube of 25 mm internal diameter
and 3 mm thick. The rod and tube are fixed at a temperatute 180° C. Find the stress in the
i'od and tube, when the temperature falls to 60° C.
Take E; = 200 kN/mm* Ea= 70 kN/mm?; és = 12 x 10 ° C: ¢ = 12 x 105 ° C
| 'PART -

escriptive/Analvtical/Problem Solvin

" [3%10=30]
Attempt any three questions '

A simply supported beam of rectangular cross section of dimension 150x300 mm is having

span of 4.5 m. It is loaded with u.d.L. of 8 KN-m compute:

()  Shear stress developed on a iayer 60 mm above the natural axis of 4 section located at
1.5 m from the left support.

(i) Maximum shear stress on the support at neutral axis. ~

What do you understand by principal stresses and principal planes? Derive the éxpression

to obtain principle stresses under the action of two perpendicular direct stresses with state

of simple shear applied to an elastic material at a certain point. \

A steel bar of rectangular cross section 30 x 40 mm pinned at each end is subjected to an

axial compressive load. The bar is 1.75 m long. Determine the buckling load and

corresponding stress using Euler’s formula. Take E= 200 GPa.
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Q4 Draw the bending moment and shear force distribution diagrams for the beam shown |

Q.5

fig. 2. Indicate the values of S.F. and B. M at all critical locations. Also give the value «
maximum shear force and maximum +Ve and -Ve bending moments and their location

Determine the points of contraflexure.

O6kN 2kN/m
C Al D E
s 4 B .
m .
fe————>je— sl¢ M sl N
Fig.2

A beam AB of 9 m span is simply supported at the ends and is loaded as shown in fig:
Determine- '

(i) Deflection at C

- (i) Maximum deflection and

(i) Slopeatend A
Take E= 2x 10° N/mm? and I= 2x 107 mm*
9kN

A l - E?,ktsumB
I~ ]

|1— 3m ——)I(-—l 5m—sle— 4.5m —)

Fig.3
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Roll No. - o Total No. of Pages: [3]
O | |
. 4E1316 .
™ . B. Tech. IV - Sem. (Main) Exam., - 2022
23] Civil Engineering
A 4CE4 - 06 Hydraulics Engineering
Time: 3 Hours e ' Maximum Marks: 70

. ‘J’ f.i ;

Instructions to Candidates: ,

Attempt all ten questib}tk from Part A. Five questions out of seven questions
Jfrom Part B and three questions out of five Jrom Part C.
Schematic diagrams must be shown wherever necessary. Any data you feel

,,,,

Use of following supporting material is permitted during examination.
(Mentioned in form No. 205) '

1. NIL 2. NIL

Q.1
Q2
Q.3
Q.4
Q.5
Q.6
Q.7

PART - A

(Answer should be given up to 25 words only) [10x2=20]
All questions are compulsory

Define geometric similarity and kinematic similarity.

What is the difference between laminar flow and turbulent flow?
Define hydraulic jump.

Define hydraulic efficiency and mechanical efficiency of a turbine.
What is aquifers?

What is the purpose of the draft tube?

What is silt excluders?
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Q.8 - Define unit hydrograph.

| Q.9

Write down different types of rain gauge.

Q.10 Define hydrologic cycle.

Q.1
Q.2

Q3
- Q4
Q.5

Q.6

Q.7

~ PART-B
(Analytical/Problem solving questions) [5x4=20]
Attempt any five guestions (Word limit 100) '

. 2w
. ¥

Derive equation for velocity distribution for turbulent flow in pipes.

A rectangular channel of width, 4m is having a bed slqpq‘git: 1 in 1500. Find the maximur
discharge through the channel. Take value of C = 50. ;;. |

Describe main parts of a centrifugal pump. RS

What do you mean by run-off? Discuss different factors.;ffccting'run-off.

Write a short notes on the following —

(A) Estimation of channel losses

(B) Silt control in canals

Find the slope of the free water surface in a rectangular channel of width 20m, having dept
of flow 5 m. The discharge through the channel is 50m?/s. The bed of the channel is havin
a slope of 1 in 4000. Take the value of Chezy’s constant ¢ = 60.

A nozzle of 50mm diameter delivers a stream of water at 20m/sec perpendicular to a plat
that moves away from the ject at Sm/s.

Find —

(i) The force on the plate

(ii) The work done

(iii) The efficiency of jet

[4E1316] Page2of3 [1920]



Q.1

Q.2
Q.3

Q4

Q.5

PART -C
(Descriptive/Analytical/Problem Solving/Design Questions)  [3x10=30]
Attempt any three guestions

Using Buckingham’s # theorem, show that the velocity through a circular orifice is given

by V= J_ZE@[-E,MLH],

Where H is the head causing flow, D is the diameter of the orifice, | is the co-efficient of

viscosity, p is the mass density and g is the acceleration due to gravity.

Derive.conditions for most economical trapezoidal channel section.

A 4m wide rectangular channel conveys 20m>/sec of water with a velocity of 5m/s. Check
is there a condition for hydraulic jump to occur. If the hydraulic jump takes place in down
stream side, find the dei)th of flow after the jump.

Describe briefly the function of various main component of Pelton turbine with neat
sketches.

Describe various type of rain gauges for the measurement of rainfall with simple sketches.

[4E1316] Page 3 of 3 [1920]
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= 4E1317
M B. Tech. IV - Sem. (Main) Exam., - 2022
\m.
25 Civil Engineering
<+ 4CE4-07 Bmldmg Planning
Time: 3 Hours - - o Maximum Marks: 70

Instructions to Candidates:
Attempt all ten questions from Part A. Five questions out of seven questwns

Jrom Part B and three questions out of five from Part C.

Schematic diagrams must be shown wherever necessary. Any data you feel
- missing may suitably be. assumed and stated clearly. Units of quantmes
- used /calculated must be stated clearly.

Use of following supporting material is permitted durmg examination.

(Mentioned in form No. 205)

1.NIL | | 2. NIL
PART -A
(Answer should be given up to 25 words only) [10x2=20]

All questions are compulsory

Q.1 What are the climatic zones of India?

Q:2 Explain about plinth regulation. \

Q.3 What are the objectives of building planning?

Q.4 Write down about noise control.

Q.5 What are the louvers? _

Q.6 What do you understand by terms aspect & prospect?

Q.7 Write about sun shading devices.
[4E1317] ' Pa,-10f2 [1920]



Q28
Q.9

What is thermal comfort?

Explam the term global chmate

Q.10 What do you understand by floor area ratlo‘?

Q.1

Q2
Q.3
Q4
Qs
Q6
Q.7

Qi1

Q.2

03

Q4
Q.5

PART -B .
{Analytical/Problem solying questions) ‘ [5x4=2

Attempt any five questions (Word limit 100) -

Discuss factors to be considered in “Vastu”. Design a residential bmldlng on a plof
15mx25m as per Vastu.
Discuss the requirements of good 1ighting system in-a building.

Write a short note on firefighting p}o_vision.

Discuss the functional requirements of a good ventilating system.
Discuss the criteria for thermal comfort. Explain uses of Bioclimatic chart.
What do you understand by Building By-laws?

Discuss various factors affecting orientation of building.

PART - C

erscnntwelAnalmcallProblem Solving/Design Ouestlons) [3x10=3
Attempt anv three questions

Discuss the different types of buildings in detail. Explain the criteria of site selection fi
building.

Explain the term principles of planning. Discuss the various factors affecting the princiy
of planning.

Discuss in detail the acoustics and sound insulation of a building.

What is sun path diagram? Discuss any one method of drawing sun path diagram.
Discuss Roominess, Circulation, Flexibility and Privacy with respect to planning ¢

building.

[4E1317] ' Page 2 of 2 [1920]



| Hoil No. . Total No. of Pages:
S - 4E1302
o™ B. Tech. IV - Sem. (Main) Exam., - 2022
"'m"‘ . Computer Science & Engineering (AI)
< 4CAIl - 03 Managerial Economics and Financial Accounting
All Branches |
Time: 3 Hours o N Maximum Marks: 70

. '
]

Instructions to Candidates: _ _ .

Attempt all ten questions from Part A. Five questions out of seven questions -~
- Jrom Part B and three questions out of five.from Part C.

Schematic diagrams must be shown wherever necessary. Any data you feel

missing may suitably be assumed ‘and- stated- clearly Units of quantities

used /calculated must be stated clearly:- : _

Use of following supporting materzal is penmtted durmg examination.

- (Mentioned in form No. 205)

1. NIL - - 2.NIL___
' PART-A
(Answer should be given-up to 25 25 words only) [10x2=20]

All guestlons are compulsory

Q.1 “Managenal economic supports manager to take decision for sucéessful implementation ol

economic strategles Comment upon this statement. |
Q.2 Define GDP and‘NNP concepts of national income.
Q.3 What is meant by price eIastip‘ity‘?

Q.4 Elaborate the term circular flow of economy. Who are the main players involve in the

circular flow of economy? .
[4E1302] -~ Pagelof4 | [5840]



Q5 What are the basic elements of-demand and supply?

Q.6 Write the cdncept of 'opportunity cost Witl‘l one example..

Q.7. Deﬁnc Kinked dfamand curve and write one reason of price rigidity.
Q.8 Differentiate between deductive and inductive methods of e.conomies. |
Q.9 Discuss any two significant uses of cash flow statement.

Q.10 What is meant by debt, liabilities and current assets in accounting? -

PART-B"

' gAnaly.ticaUPrqbleni solﬁhg questions) [5 x4=207

Atteippt any five questions (Word limit 100)
Q.l Deﬁné the concept éf manalge_rial €CONOMmIcs. What.are the micro and macro scopqs.'
econoﬁﬂcs? Explain all in bﬂef.
Q.2 What is Law of demand?' Draw the suitable ;iiaé_rani of demand curvé and write
determinants. \
Q3 Elaboraté the cost and‘oﬁtput relations in short run and long run. What is the role
Margfnal costin aecisions?

Q.4 How demand forécasting is useful for future decision making? Explain any two methods

demand forecasting.

[4E1302] o PageZof4  [5840]



Q.5 Write the stages of production function. How manager can control the inputs in production?
Define your answer with suitable table of inputs and diagram.
Q.6. How price, output and profit can be determined in perfect competition? Draw suitable

diag;am. :

Q.7 Sttelio Ltd. presents the following information and you are required to calculate funds from

operations -
"Profit and Loss Account
<. ~ ' 4
To Opei‘atidn Expenses | ' '_I,O0,0dO By Gross Profit 2,00,000
To D.e.preciation 40,000 ‘By Gain on Sale of Plﬁnt | 2_0;000
To Loss oﬁ sale of Building | 10,000 |

To Advertising' Suspense Account 5,000
To Discount Allowed -~ | 500
To Discount on issue of Shares

written off . 500

To Goodwill written off - 12,000
| ToNetProfit | 52,000

220000 - | 220,000

[4E1302] 3 " Page3of4 : [5840]



- PART-C
(Descriptive/Analytical/Problem Solving/Design Questions) [3x10=:

Attempt any three questions

Q.1 Define ciirj:ular flow of economy witﬁ suitable &iagram. Which are the current econc
'pr():bler_ns allre facing by nation after pandemic situation (Year 20;20 - 2021)?

Q.2 Define the term demand elasticity. What are the various degrees of élasticity? Define «
'with diagram and exampie.

Q.3 ;What is méeant by least cost cén_lbinations in production function? Elaborate the prope
;0f least cost combinations. |

1

Q.4 Why price?is rigid in market? Give re?spnﬂs. Draw Kinked demand curve and how pricé
| output can;be detenm;led undér Ki;lked deménd- curve.
- Q.5 Differentiz;te between —
(a) Derr}anq curve and Supply curve. . - .
(b) Explijcit cost and.implicit cost
é(c) S.tatic; 'economy éﬁd Dynanﬁc economy
, E(d') ‘Mon(?)poly market and MonOpoﬁstii;‘markét |

(¢) Cash flow statément and Fund flow statenient.

[4E1302] | Paged of4 - o [5840] -
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- : 3E1103
vl B Tech. IV - Sem. (Main) Exam., May - 2019
E‘ - HSMC
on Managerial Economics & Financial Accountmg
All Branches
Time: 2 Hours : - ‘ | Maximum Marks: 80

« Instructions to Candidates: _ ' '
Attempt all five questions from PartA , four questwns out of six questwns from
~ Part B and two questions out of three from Part C.

‘Schematic diagrams must be shown wherever necessary. Any data 'you feél
missing may suitably be assumed and stated clearly. Units of quantities
used /calculated must be stated clearly. |
Use of following supporting material is perhzitted_ during examination.
(Mentioned in form No. 205) |

CLNL 2 NL

PART - A
{Answer should be given up to 25 words only) [5x2=10]

All questions are compulsory

Q.1 GDP

Q.2 Giffen Goods

Q3 Marginal Cost | N
Q.4 Perfect Competition -

Q.5 Capital Budgeting

[3B1103] Page 1 of 3 . [11760]




.. PART-B
(Analytical/Problem solving guestions;

Attempt any four questions

[4x10=4(

Q.l What is circular flow of economic activity? Explain-the circular flow in four sect(

. Q.2 Following table exhibits demand and supply Condltldﬂ ofa cormnodlty at different pric

model.
levels —
Price X) Demand , Supply_ A A
(‘000/month) | (“000/month)

110 - 1000
100 40 900 . - .
90 80 800 ..
80 120 700-
70 - 160 600 .
60 200 500
50 740 400
40 280 300
30 320 200
20 360 100
10 400 -

(a) Draw the demand and supply curves.

(b) What is the equilibrium price and quantity?

- Q.3 “In perfect competition a firm is pr1ce taker”. Explain the statement w1th the help of

suitable illustration.

Q.4 What is Elasticity of Demand? What are the factors affectmg the Elasticity of Deman
- Q.5 What is Isoquant? Explain with the help of diagram.
Q.6 Compute the Net Present Value of -a project if it requires an initial investment

Z2,25,000 and is expected to generate the following net cash inflows.

Year 1 Year 2 ~ Year 3 Year 4
395,000 ¥ 80,000 T 60,000 55,000
The minimum desired rate of return is 12%.
[3E1103] Page 2 of 3 [11760]




Q.1
Q.2

Q.3

PART - C

* (Descriptive/Analy tical/Problem Solving/Design Question) . [2x15=30]

. Attempt any two questions

Explain the various methods of measuring Nation Income.
What is meant by production function? Explain the 3 stages of production with the help

of diagram.

Prepare the Trading and Profit and Loss account and a balance sheet from the following

particulars for ABC firm as on 31 March 2018.

[3E1103]

Account Title | Amount ) Account Title Amount )
Sundry debtors 200000 | Bills payable 86500
Bad debts 6000 | Sundry creditors 48000 |
Trade expenses . 2500 | Provision for bad debt 7200 b
‘Printing and Stationary | -~ 7400 | Return ;mtwards 5500
Rent, Rates and Taxes 8600 | Capital 500000
Freight 5000 | Discount received 11540
Sales return 11200 Interest received 20000
Vehicle 30000 | Sales 123000
Opening-stock 100000
Furniture and Fixture 22000
Purchases 71000
Drawings 34900
InveStmenfs 92000
Cash in hand 75000

136140
801740 801740 |
Adjustments:
(1) Closing stock was valued T 45000. ‘ -
(2) Depreciation charged on Furniture and Fixture @ 5%.
(3) '~ Depreciation charged on vehicle @ 10%.
Page'3 of 3 [11760]
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L 3E1103
o B. Tech. IV - Sem. (Back) Exam., - 2022
E HSMC Aeronautical Engineering
en | 4AN1-03/ Managerial Economics and Financial Accounting
Common for all branches
Time: 2 Hours Maximum Marks: 80

Min, Passing Marks: 28

Instructions to Candidates:
Attempt all five questions from Part A, four questions out of six questions from
Part B and two questions out of three from Part C.
Schematic diagrams must be shown wherever necessary. Any data you feel
missing may suitably be assumed and stated clearly. Units of quantities used
/calculated must be stated clearly.

Use of following supporting material is permitted during examination.
(Mentioned in form No. 205)

1. NIL 2. NIL
. PART-A

(Answer should be given up to 25 words only) [5x2=10]

All questions are compulsory

Q.1 Circular flow of economic activity
Q.2 Demand forecasting

Q.3 Define marginal cost

| Q.4 Oligopoly marker

Q.5 Capital budgeting

[3E1103] Page 1 of 2 [560]




Q.1
Q.2
Q3

Q4

Q.5
Q.6

Q.1

Q.2
Q.3

PART - B

(Analytical/Problem solving questions) f[4x10=4

Attempt any four questions

What is Managerial Economic? What are the principles of Managerial Economic? _
What is National Income and methods of measuring National Income?

What is Price Elasticity? Explain types of Price Elasticity of Demand.

Discuss the different cost concepts relevant to managerial decision for Planning
Control.

Describe the characteristics of Pure/Perfect Competition and Pure Monopoly.

What are Financial Ratios? Explain two Financial Ratios in detail.

PART - C

(Descriptive/Analytical/Problem Solving/Design Questions)  [2x15=3{

Attempt any two questions

What is Law Supply? What are the determinants of Supply? Explain four determi.nates
detail.

State and explain the law of variable proportions.

What is Financial Statement Analysis? What are the three basic tools for Financ

Statement Analysis?
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